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All questions are compulsory.
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SEcTION A (WU 3)
1. Answer any two of the following:

(i) Distinguish between a sentence and proposition.

(ii) Is existential import a criticism to the traditional
square of opposition? Justify your answer.

(i) What is an argument? Explain and illustrate
different kinds of arguments.
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2. (a) Reduce the following propositions into their

(b)

logical form and give their converse and obverse
forms {any rwo):

(£) All that glitters is not gold.
(if) Cats are mammals.

(i1} Soldiers are never coward.

frefafas el @ 3 aff s 4 wgh
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(i) fafeaat ward €1

(iif) s wft @ T 8 9 3x2=6
If ‘some snakes are poisonous’ is true, what can be

inferred about the truth/falsity of the following
(any two):

(1) No non-poisonous creatures are snakes.
(i) Some poisonous creatures are not snakes.

(iif) No snakes are poisonous.
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Prove any one of the following:

i) It the major premiss is affirmative, the minor
jJor p
premiss can not be particular in 4th figure.

(&) The minor premiss must be affirmative in the
tirst figure.

frafafas & & feel v & fog AT

() e e F Ay @ snurEEE wEOwE
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Test the validity/invalidity of any two of the
following:

frafafes 3 / frdl @ | duaysrduar wife

() AAA-II

(i) EAO-IV

(iii) OAO-IIL 2x2=4
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4. (a)

5. (a)

SECTION B (@UE 8)

Use truth table method to find out which of the
following are tautologous, contingent or
contradictory (any iwo):

g W fafy gro fefafEs § & sEw g0,
Fwren e sqare 2, Fraffa afse (G @y -
@) (w29} (p2n)2[p3(gon)]
(#) pD(gvr)
pI~q [ pvr
(i) [(p-~qvr]=l(~pvr)-(gVv~n)}  5x2=10

If A and B are true, X and Y are false, then decide
the truth value of the following arguments (any
wao):

afz A st B & ¥, X sk Y 3@w @ @
frafafgs gfeadl @ o e fuifa #@E
(e gy

@) [(A-B)D(XV~Y)]D[(A-X)V(B-~Y)]
(it) [(XVA)D~B]=[(XD~B)V(AD~B)]
(i) (~YDI~X)=[(A-B)V(Xv~Y)]  2x2=4

(b) Define any two of the following:

(1)  p=q into stroke function

(#) (pDg)v~pinto*~" und"’



6. (a)
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({it) p=~qinto*~"and *V’.

fefafgs § A fed @ | vafi| ST
() p=q R V& waTH

(il) (pDQ)V~p A '~ aW 4

(iii) p=~q ® '~ q@ V' H|

Symbolise the following statements any three):
(i) Unless the public change their attitude, the
women will remain unsafe in society.

(ii) Passive euthanasia will be applicable in India
if 4nd only if the medical association provides
favourable opinion.

(iif) Shiv and Sanjeev both are good journalists.

(iv) Neither John nor Ira will participate in the
competition.

fyafafas wud] @ s Ffa (G aa

() w& a% o wh W fERw TH a<3A,
o § i srquEE Wit

(i) TifsFr gEqe wie F ang @ Al ek
afe fafedl ST ST(HA 09 NT0 FaT1 2

Giii) Frd it wafig Q7 = TIHR €

(iv) A @ 1 3 @ 30 wiwnfv F e &0

3x2=6
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(5)

7. (a)

Use shorter truth table method to test the
validity/invalidity of any one of the following:

a9 @ wef fate g Fefafas § 3 fell o
# dya/sdyar Sifaw

@ poq
qor [.pDr
Or {Hgm)
@) @>2q):(p2r)  fip-(gvr) 4

Construct a formal proof of validity for any one of
the following arguments:

frafafas gfemat & F e & & fod sl
v g3 J@EE Sifan—

() NOM
MDD
MDP
.
NvM /oD
Or (3tgE)
(#) Av(B-C)
C>~B
~A /o~CvD 6
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(b) Symbolise any two of the following propositions by
using the propositional constants and qualifiers:

(i) Generally physicists are astronauts. (Px, Ax)
(ii) Snakes are not all poisonous. (Sx, Px)

(ifi) Only members of the club can participate in
the function. (Mx, Px)

(iv) No birds are meat eaters. (Bx, Nx)

Frefaigs adaredl ¥ @ el & &1 qdaaTas

O qT I § Td@a |

(i) wifqeifae sifusat siafy a6 @ €1 (Px, Ax)

(i) wIv g s T8 A1 (Sx, Px)

(iii) ¥Fa@ q9 & v @ FEAF § 9 F R ¢
(Mx, Px)

(iv) ¢ +ft s wiwEr T /Y (Bx, Mx)
2x2=4

8. Write short notes on any two of the following:
(i) Inference and Implication
(ii) Truth and Validity
(iii) Different senses of ‘OR’.
frfafas & | -2 T Sl el fafeg
(i) STHAR T AR
(i) TR W@ e
(iii) ‘s F 5= g1 a1ef 2x5=10
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9. (a)

(%)

Secrion C (@73 Q)

What is an informal fallacy? How do you
distinguish it from a formal fallacy?
st ey &1 42 shvafe adey @ s
W I uym F@ §2?

Or (HA9H1)
Define a fallacy. What is the difference between
a fallacy of relevance and a fallacy of ambiguity?
Explain.
aeEly WU A mdfwm ade g
FEWl g § F41 7R # 2 sEren s 5
Identify and explain the fallacy committed in any
one of the following examples:

({) While proceeding towards the operation
theatre a black cat crossed my path. That is
why I could not save the life of my patient.

(i) Try to reduce the punishment because he
does not have anybody at home to look after
his ailing mother.

frefafed ssem & @ (50 we A ot Oy € 3

Tgarfa 3 3w smTEn A

@) 9 d A s A owow @ o
Frelt faeelt 3 AT TET FE few g@lhw F v
WS W StaT w9 T8 o
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10. Write short notes on any mwo of the following
fallacies:

(1) Fallacy of equivocation

(i) Petitio Principii

(ii1) Argumentum ad populum.

fFrafafgas § @ fesl 2 9 w W foooft fafl
() FITfE Sy

(i) TFH Y

(iii) ARNTH IfEE . 5x2=10






